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9.1 Usingeq. Ayy =
- bt gw'RS

A = 8w Rp _ —1mA/N-10kD
M T4 g, Ry 1+ 1 mANV -6kl
_ =10
|+ 6
Ay = 143 V/V
I, = ﬁ_l'_—— = 20 Hz
27{# [ RSJ-CS
\gm
Cy= o b =93 uF

29 - 201K || 6 K)

. |
92 [ =
feen = 55m Cer(Rp+ Ry || o)

= 10 Hz

I

1

10- 27 (10K + 10K || 100 K)
Cpy =083 uF
If 1} is doubled with both rg and Rp halved
fe ., = . l .

c2 27083 p (I0K+5K] 50K)

= 13.18 Hz

For higher power designs, where /5 is

=Cn=

incremented and r, and Rp are reduced,
evenwally ry || Rp << Ry then R; becomes
dominant in determinig the corner frequency:
- 1
= 8+« = 19.17 Hz
Jee R

2 2w Oy Ry,

9.3 Reler o Fig. P.9.3: g, = 5 mA/V

—R
Ay = E(,_FI%“: 2. (Ry | &) where
Re = 47TM || 10M = 825 M
—8.25 -3 3
Ay = —=82 55107 (47 || 10).10
O T (4.7 110)
= — 1579 VIV
| _
e (Eq.9.2)
I = TR Ry
. |
Je = - d
270 0.01 X 107%-(8.25 + 0.1) % 10"
= 1.9 Hz
. |
.fn"2 - —'—“’M—]
2 C.,.-(RS I :—)
= ! = 87.5 Hz
210 % m"’[z K|l % K]
Sps = l

- Cpp - (Rp + RY)

_ 1
2 0.0 % 107047 + 10) x 10°
£, = 1083 Hz

= 108.3 Hz

R
94 Ay = ———g, (g | Ry |l R
Rg + R,
2X3
= _0 K , v = 3
5705 0 KII0K) (g =)
Ay = =16 V/V
. i
SR pe— -
S 2mCe(Rg + Ry,)
_ 1
27 Coy(2 + 0.5) % 10°
= Cpy = 21.20F
B sgpy, = 3%107°
_/p! - . 5=5:\0 Hz = —_——BWXC'S
= Cg= 9.6 uF
: I
fpi =

2aCeaRp + Ry)
|

10 Hz =
= T S CA(I0K + 20 K)

= Cpa = 0.5 pF
fi =50 Hz

9.5 Refer to Fig. 9.1

g. = 5 MAV, Ry, = 200k}, R = 10 MQ,
Rp=3 kO R, =5k

I Cpy = Cep = Cg = 1 pFthen from Eg 9.2,
9.4.9.6 ‘

for = I
MU am CoRe + Ryy)
= — I - = 15.6 mHz
2a - 1 X 107°(10 +0.2) X 107
, - -3
Fpp = =Sm_ = 3X10 o q958 1,
Ty age0f
Fon = 1
PR 2w CeaRy + RY)
= | = 199 Hz

27 10783 + 5) x 107
From highest 1o lowest :
Jpa = 185.8 Hz, fpy = 199 Hz. fp) = 15.0 mliz

fr2 - 395 E = 1275.6

e Lr
I fpy = 10 Hz
.o_axa07
=220 = 796 uF
== T e

T/



